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QUESTION 1

Which of the following is the best location to calculate a formula once a month, when the data is updated? 

A. Rule 

B. Hierarchy 

C. Turbo Integrator 

D. Relational Database 

Correct Answer: C 

 

QUESTION 2

Why would an application developer define the contents of a variable as other? 

A. Because the variable will not be used in the script. 

B. Because the variable will map to a dimension. 

C. Because the variable will be used in a function. 

D. Because the variable will not be used in a function. 

Correct Answer: C 

 

QUESTION 3

An application developer needs to know the last time the Sales Forecast cube was updated. The cube file, including the
date and time stamp, can be found in which of the following locations? 

A. In the data directory. 

B. In the data file. 

C. On the web server. 

D. On the admin server. 

Correct Answer: A 

 

QUESTION 4

Why is the same error generated from TI processes repeated multiple times? 

A. The TI process was executed more than one time. 
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B. The chore was executed more than one time. 

C. The TM1 server ran the process for each cell in the cube. 

D. The script in the process ran for each row in the source. 

Correct Answer: D 

 

QUESTION 5

Which of the following spreading methods may use a lookup cube as the basis for the spread? 

A. Proportional 

B. Repeat 

C. Percent change 

D. Relative proportional 

Correct Answer: D 
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